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2. -12x – 32x 
3. 5 – 24 
4. 6x + (-42x) 
5. 18 – (-18) 
6. 10x – 40x 
7. How tall is Mr. Lischwe?  

 

1 

-44x 

-19 

-36x 

36 

-30x 

Warmup 8/
720

72
 

Created by: Mr. Lischwe 

Check Matching 
Homework 

Yellow Matching Sheet Answers 

1. G 
2. C 
3. K 
4. E  
5. A  
6. L  
7. H  
8. F  
9. B  
10.  J 
11.  I 
12.  D 
13.  M 
PROBLEM ON THE BACK: x = Anne’s Pushups 
x + (x + 1) + 3x = 61 

Homework scoring Rubric 

Score        # of Mistakes Showed Work?     # Skipped 

100 None All None 

93 1-2 All None 

85 Less than half All 1 

75 Less than half Most 2 

70 Half Most Several 

60 Half None Several 

50 Less than half                            None Several 

0 I chose not do the assignment 

COLLECT: 

• Matching Worksheet 

• Job Application 

• Lischwe Age Problem (from yesterday) 

 

 

 

2f + 8 = 14 

f = 3 
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5h + 6= 31 

h = 5 

 

 

 

12 – 3g = 36 

g = -8 

 

 

 

-1/2x + 24 = 14 

f = 20 


